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The velocity-time graph below represents the motion of 5 runners in a free
marathon, which one of the runners changed his running direction during the

marathon?
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The graph below represents the (position- time) for a deer walking in the zoo.
During which time is the deer at rest?
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The figure below shows a simplified graph of a bicycle’s motion. When is the
bicycle’s speed greatest? a.
Section llI
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Which type of motion does the (position-time) graph below represent?
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Motion with zero acceleration
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Motion with a constant positive acceleration
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Motion with a constant negative velocity
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Motion with zero velocity
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Which of the following situations can be explained by Newton's third law?
TEJ (9 09318 pliiuwly Wt S AW Yl e S

.a.

When a man fires a gun, the gun recoils.

When the force acting on an object is doubled its acceleration is double~
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Two objects of different masses released from the same height at the same
time hit the ground at the same moment.

o3 (@ o2V I OMasg 39l Guad (3 gAY Hudd oo dalisce SISO Olbeewnsr by
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A feather falling in a straight line with a constant speed.
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Which busses have positive acceleration?

Start
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The motion diagrams below show the motion of four busses moving along the x-axis.
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Adam has started moving from point A, he passed the points B, C, D as shown in
the figure before he came back to point A. What is the displacement and distance
respectively?
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Kareem drops three balls with different masses from the same height. Which ball
has the greatest acceleration? (Ignore air resistance)
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All balls have the same acceleration

The blue ball
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The red ball
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The yellow ball
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Ax = xp — X;
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A car starts from rest and goes down a hill with a constant acceleration of 5 m/s?.
After 5 s the car reaches the bottom of the hill. What is the car’s final speed?
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| You may use the following equations

—___ Ax  Xi— X

At~ — ¢
x = vt + X g=4v_Yi— Vi
- At tf —

vi = v; + alt

X; = X; + vit; + % at/’

Vf2 = Vi2 + 2a(xs — xj)

g = -9.8 m/s?

a.
i 25 m/s
_ 1 A
10 m/s
C.
50 m/s
d.
1m/s



What is the number of significant figures in the number 0.00040207?
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The free body diagram shows the forces acting on a box with a mass of 34 Kg.
What is the acceleration of the box?
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The (position-time) graph below shows a cyclist’s location in a 60s-time interval.
What is the cyclist’s displacement from the starting position after 40.0 s?
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The Saudi football national player Saleh Al-Shehri kicked the ball vertically
upwards in Qatar World Cup 2022. What is the direction of the ball’s velocity and

acceleration while going up in the air?
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Below is a data table produced by four groups of students who were measuring
the mass of a paper clip which had a known mass of 1.04 g, which group got a
properly accurate and precise measurement of the mass of the paper clip?

03213, g1.04 S9lud d39 20 alisS & Lng Eldia éu:SL_,uL@ MR 1a Ol gazxs &Jﬁ Cwold
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Group 1 Group 2 Group 3 Group 4
Triall  1&glxs | 1.03 g 1.13 g 1.04 g 0.99 g
Trial 2 2dglxs | 1.05 g 1.10 g 1.41 g 1.00 g
Trial 3 3dglxs | 1.02 g D41 Gg 1.52 g 1.19 g

Group 4

Group 3



A car in a drag race started from rest and accelerated constantly to a velocity
of 50 m/s when it reached the end of a 500 m road. What was the car’s
average acceleration?
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You may use the following equations

Ax = xf — Xx; —_ Ax _ Xt — X
| P V="M T
X = vt + X g=lv_YVi—Vi

vi=v,;+ alt xf=xi+vitf+%6tf2

vf2 = vi2 + 2a(x; — X;)

g=-9.8 m/s>




According to the given equation below, what relationship exists between the

variables F and v?
Svs F opasiedl g 430l o ¢ W1 dolaall ) el

mv?

F=

-

Quadratic relationship
EVETTI )

R

b.
Linear relationship
dlas A3Me
C.
Inverse relationship
duSe A3
d.

Can’t be determined without solving the equation
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A coin is dropped from a building that is 25 m high. The coin is initially at rest,
how long does it take the coin to hit the ground?
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You may use the following equations
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A car slows down in a constant rate of 10.0 m/s?. If the car’s velocity is 50.0 m/s, how
many meters will it travel before it completely stops?
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You may use the following equations

Vi= Vi + @At | x=x+ vt +5atf
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Which value of acceleration could be found from the tangent at point P?
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Maryam used the graduated cylinder to measure the volume of an unknown liquid in the

physics lab, the volume she measured was 46.0 mL. Then the teacher asked her to mix it

with 1.20 L of water, what is the volume of the mixture in (L)?
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s 1

A shopping cart with a mass of 10kg is accelerating to the right on a horizontal a. .
surface from (5 m/s) to (10 m/s) in 10 s. What is the net force acting on the cart i
horizontally? '
b 10 s M el 923 (10 m/s) I (5 m/s) oo (281 haw e 10kg galiS Bgund doye £yl b- 10 N
SLadl dyyalt Jo 355 31 89 Aama
C.
100 N
d.
50N
— Xi — X;
Ax_xf—xi VEAX: f i
At tf - ti
X =Vt + X g=Adv_ Vi~V
At ty —

Vf= V|+6At Xf=Xi+Vitf+%aff2

2 2
Vi = Vi + 25(Xf — Xi) =-9.8 m/s?




A worker in steel factory needs to write down the temperature of the steel rods
using the Sl unit, which one of the following units he should use?
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A car travels a distance in 6 s, if its initial velocity is 2 m/s and its acceleration is
2 m/s?, how far does the car travel?
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48 m
You may use the following equations

Ax:xf—xi V= AX:;{f:;(i
14 m At 4
x = vt + X g=A4v_Yi—V
------------------------------------------------ - At tr — I
24 m
— Py T2
__________________________ e | VE= V@ A | X=X+ it + 5 G
v = v’ + 2alx; — X))
12 m f i f ! g =-9.8 m/s>




A stone is thrown upwards with initial velocity of 20 m/s, what is the maximum
height that stone will reach?
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Yousef is learning to ride a bike. His father pushes him with a constant acceleration
for 4.0 s, and then Yousef continues at 6.0 m/s for another 5.0 s before slowing
down until he completely stopped after 3 s. What is Yousef’s displacement in the
first 9 s?
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